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Introduction

At the August RAN2 #15 meeting, Ericsson and Qualcomm both submitted contributions that tried to clarify the logical channel relative priority specification in section 11.4 of 25.321 V3.4.0.

The Ericsson contribution (R2-001587) added details to the specification and provided examples to illustrate the relative priority concept.

The Qualcomm contribution (R2-001838) attempted to simplify the relative priority specification by defining a proportional bandwidth guarantee parameter (Bi) for each logical channel, instead of the MaxLoss parameter.

It was decided at the meeting that more time was needed to evaluate these contributions and that there would be an email discussion on this topic.

Summary of Discussions

On the email reflector, many questions were raised on the two contributions, and most have been answered.

About a week before the RAN2 #16 meeting, Ericsson reviewed and updated the Qualcomm contribution, and created a new CR based on the updated contribution.

In this relative priority scheme, each logical channel is assigned a priority between 1 (highest) and 8 (lowest). In addition, each logical channel i is assigned a Bi value, so that the fraction "Bi / (Sum of all Bi's)" of the total UE bandwidth is allocated to the i-th logical channel. The bandwidth left open by channels with no data to send is shared evenly by higher priority channels first and then evenly by lower priority channels.

Days before the RAN2 #16 meeting, not convinced that the complexity of the relative priority scheme was justified, Qualcomm proposed a simpler absolute priority scheme that was similar to the absolute priority scheme originally proposed by Ericsson in R2-001004 at the RAN2 #13 meeting.

In this absolute priority scheme, each logical channel is assigned a priority between 1 (highest) and 8 (lowest). When several logical channels are multiplexed together, the higher priority data are transmitted whenever possible, before lower priority data are considered; this is to maximize the transmission of high priority data.

It is expected that both priority schemes will be discussed at the RAN2 #16 meeting.

Appendix

The discussion emails are appended below.

------------------------------------------------------------
From: Jerome Coutant <jerome.coutant@PHILIPS.COM>

Content-Type: text/plain; charset=iso-8859-1; name="MEMO 08/29/00 11:29:48"

X-UIDL: %&l!!G5\"!CO+!!D*M"!

Dear all

I have some comments/questions about Ericsson document (R2-001587).

I find the examples not clear...

> The logical channels A and B are mapped to a transport channel with 5 TB in a TTI and logical

> channel C is mapped to a transport channel with 10 TB in a TTI. In one TTI, 5 TB from LCH-A or

> 5 TB from LCH-B or 10 TB from LCH-C can be transmitted.

What does it mean?

- there is one TrCH with 2 TFs : 5 x TBsize1 or 10 x TBsize2. In this case how can we know that the

  TBsize1 will be use for LCH-A and B and TBsize2 for LCH-C ?

- there are two TrCHs : one with the TF 5 x TBsize1 and one with TF 10 x TBsize2. In this case the

  sentence "LCH-A and LCH-C have different TB size, which means that data from the two logical

  channels can not be transmitted in the same TTI." is not correct, 2 different TrCHs can have different

  TBsize.

I can see also that in the 3 examples the priority between 1 and 8 is not used : LCH-A which has the

highest priority is never transmitted first !!!

Jerome Coutant (PCC)

------------------------------------------------------------
From: Johan Torsner <johan.torsner@lmf.ericsson.se>

Comments: cc: jerome.coutant@PHILIPS.COM

Content-Type: text/plain; charset=us-ascii

X-UIDL: \1E!!6kW!!l9)!!&>'#!

Hi Jerome and others,

Sorry for the late reply, I have tried to answer your questions below:

BR

/Johan T

> Dear all

>

> I have some comments/questions about Ericsson document (R2-001587).

> I find the examples not clear...

>

> > The logical channels A and B are mapped to a transport channel with 5 TB in a TTI and logical

> > channel C is mapped to a transport channel with 10 TB in a TTI. In one TTI, 5 TB from LCH-A or

> > 5 TB from LCH-B or 10 TB from LCH-C can be transmitted.

>

> What does it mean?

> - there is one TrCH with 2 TFs : 5 x TBsize1 or 10 x TBsize2. In this case how can we know that the

>   TBsize1 will be use for LCH-A and B and TBsize2 for LCH-C ?

> - there are two TrCHs : one with the TF 5 x TBsize1 and one with TF 10 x TBsize2. In this case the

>   sentence "LCH-A and LCH-C have different TB size, which means that data from the two logical

>   channels can not be transmitted in the same TTI." is not correct, 2 different TrCHs can have different

>   TBsize.

>

The first alternative is what we have assumed. However, it seems like a mapping from LCH to TBsize is

currently not in the spec, which would be needed to be able to multiplex several logical channels with

different PDU size on a single transport channel. This mapping may have to be added in the spec.

>

> I can see also that in the 3 examples the priority between 1 and 8 is not used : LCH-A which has the

> highest priority is never transmitted first !!!

>

The intention of the scheme is to assure that a LCH with high priority gets the assigned bandwidth, more

than to specify in which order data is transmitted. This is perhaps more visable in the case where the "max

loss" parameter is set to zero. In this case, the highest priority data gets the whole bandwidth, and lower

priority data can only be transmitted when there is no high priority data available.

------------------------------------------------------------
From: Alessandro Betta <alessandro.betta@telital.com>

In-Reply-To:  <0056900011294341000002L012*@MHS>

Content-Type: text/plain; charset="iso-8859-1"

X-UIDL: h"b"!/>Q"!k1&#!U_n"!

Dear all

I have some comments/questions about Ericsson document (R2-001587).

1) from my point of view, MAC has to run the Selection algorithm every TTI.

The Transport Format Combination Selection rule introduces the concept of

periodicity.

The question is: to manage the relative priority mechanism (blocking

percentage), has MAC to take in to account the TFC choices made in the

previous TTIs?

If yes, how is managed the following situation:

during the period (composed of n TTI)

a) TFCS changes due to an allocation of a new transport channel or due to a

generic bearer reconfiguration.

b) priority parameters and/or blocking percentage change.

2) according to the 11.4 of 25.321, the relative priority mechanism seems to

be applied only at logical channel level.

Ericsson document applies this mechanism to the entire bandwith. How is

that?

3) in the TFC Selection algorithm the Buffer Occupancy value is never used.

The interface between RLC and MAC foresees the transfer of BO parameter to

MAC.

The BO parameter is used by MAC for traffic measurement purposes but in my

opinion MAC has to consider this parameter in the TFC Selection algorithm.

Please, clarify my understanding about this.

Best Regards

Alessandro Betta

------------------------------------------------------------
From: Johan Torsner <johan.torsner@lmf.ericsson.se>

Organization: Oy L M Ericsson Ab

Subject:      Re: Logical channel priorities in MAC protocol

Comments: cc: alessandro.betta@telital.com

To: 3GPP_TSG_RAN_WG2@list.etsi.fr

Content-Type: text/plain; charset=iso-8859-1

X-UIDL: PKn"![@(#!8YQ!!EdI"!

Dear Alessandro,

I have tried to answer your questions below.

BR

/Johan T

> Dear all

>

> I have some comments/questions about Ericsson document (R2-001587).

>

> 1) from my point of view, MAC has to run the Selection algorithm every TTI.

> The Transport Format Combination Selection rule introduces the concept of

> periodicity.

> The question is: to manage the relative priority mechanism (blocking

> percentage), has MAC to take in to account the TFC choices made in the

> previous TTIs?

>

Yes, as the blocking percentage can typically not be obtained measured over a

single TTI.

> If yes, how is managed the following situation:

> during the period (composed of n TTI)

> a) TFCS changes due to an allocation of a new transport channel or due to a

> generic bearer reconfiguration.

> b) priority parameters and/or blocking percentage change.

>

After a reconfiguration there will be a interruption in the cyclic behaviour of

the scheme, and most likely the algorithm has to be reset after a

reconfiguration.

>

> 2) according to the 11.4 of 25.321, the relative priority mechanism seems to

> be applied only at logical channel level.

> Ericsson document applies this mechanism to the entire bandwith. How is

> that?

>

If the priority is only applied to logical channels on one transport channel,

the question still arises how to prioritise between logical channels on

different transport channels. The idea to apply the scheme on all channels is

also used in the Qualcomm proposal.

>

> 3) in the TFC Selection algorithm the Buffer Occupancy value is never used.

> The interface between RLC and MAC foresees the transfer of BO parameter to

> MAC.

> The BO parameter is used by MAC for traffic measurement purposes but in my

> opinion MAC has to consider this parameter in the TFC Selection algorithm.

>

The idea was to achieve a well defined behaviour of the UEs in a simple way (at

least for R99). The BO parameter could be taken into account but would lead to a

more complex algorithm.

------------------------------------------------------------
From: Ludovic TANCEREL <ludovic.tancerel@TRIUM-RD.COM>

Subject:      Logical channel priorities in MAC protocol

To: 3GPP_TSG_RAN_WG2@list.etsi.fr

Content-Type: text/plain; charset=us-ascii

X-UIDL: (1g"!\55!!LG1!!b>Z"!

Dear all,

I have a few questions/comments on Ericsson and Qualcomm document

(R2-001587 and R2-001838).

First in Qualcomm, I think there is some precision to make to Bi

parameters. It seems to substitute totally MLP and Max Loss, I think it

may be restrictive concerning the LC because it is not possible to adapt

to its input. I mean that the ratio between Bi and Bj is fixed and you

cannot change it relative to data available in the input.

> The Bi values are determined by UTRAN; these values must be consistent with

> the corresponding TFS and TFCS configurations

How do you garantee that ? There is also no explanation on how you deal

with the problem of different blocksize mapped on

the same TrCH.

In Ericsson documents, it is said that :

> If more than one logical channel have the same priority, the total amount of TB

> available for data with this priority is split as even as possible between these

> logical channels.

I think that the term "as even as" is critical and must be precised. You

can choose to favour the Buffer Occupancy, the equality of the output

bit rate...

I think that the best would be to garantee the constancy of the rate

between the input bit rate and the output bit rate for the LC of same

priority (It implies to measure both).

> If several transport blocks need to be blocked in a TTI due to restrictions in the

> TFC, the distance between TTIs containing blocked transport blocks shall be as

> large as possible.

It mainly concerns the case where you have more than one blocksize to

map on a same transport channel. It is not said how you select the proper TFC.

I think that it is necessary to consider more than one TFC in the TFCS

and check which one is the most appropriate concerning the blocks

available in the RLC and the current input and output bit rate.

I also agree with Mr. Jerome Coutant about the exemples proposed in the

document of Ericsson. Transport blocks should be blocked after that LC

of high priority have transmitted.

Thanks for any comments you make on my questions.

Best regards,

Ludovic Tancerel

------------------------------------------------------------
From: Peng Li <pli@qualcomm.com>

Comments: To: Ludovic TANCEREL <ludovic.tancerel@TRIUM-RD.COM>

In-Reply-To:  <39AF684E.14495F07@trium-rd.com>

Content-Type: text/plain; charset="us-ascii"; format=flowed

X-UIDL: MIP"!J'i!!)&&"!SNg"!

Dear Ludovic,

I will try to answer your questions regarding the Qualcomm document.

>First in Qualcomm, I think there is some precision to make to Bi

>parameters. It seems to substitute totally MLP and Max Loss, I think it

>may be restrictive concerning the LC because it is not possible to adapt

>to its input. I mean that the ratio between Bi and Bj is fixed and you

>cannot change it relative to data available in the input.

The ratio between Bi and Bj is fixed only when both channels have data to

send and are only using their guaranteed bandwidths. If LC-i has data to

send but not LC-j, then LC-i may send more data than its share of bandwidth

if there are available bandwidth left open by other logical channels

without data.

>> The Bi values are determined by UTRAN; these values must be consistent with

>> the corresponding TFS and TFCS configurations

>How do you garantee that ? There is also no explanation on how you deal

>with the problem of different blocksize mapped on

>the same TrCH.

It has not been specified how the UTRAN should assign the Bi values and

TFCS configurations. The UE cannot guarantee that the Bi values are

consistent with TFCS.  The behavior of UE is unspecified if the Bi and TFCS

values are inconsistent.

The problem with different block sizes is addressed by using the number of

bits for bandwidth measurement rather than the number of transport blocks.

Best Regards,

-Peng

------------------------------------------------------------
From: Peng Li <pli@qualcomm.com>

Comments: To: jerome.coutant@philips.com

In-Reply-To:  <0056900011442186000002L062*@MHS>

Content-Type: text/plain; charset="us-ascii"; format=flowed

X-UIDL: i4*!!mUD!!K[X"!*IA!!

Dear Jerome,

>At 02:42 AM 9/4/00, jerome.coutant@philips.com wrote:

>Dear Peng

>

>Reading your reply, it seems implicit that you would like to replace the Max

>Loss parameter by the B parameter.

>And the MLP one? Is it still useful? We can consider that the LogCH with the

>max B ratio should have the higher priority, shouldn't it?

Yes, I think that the MaxLoss parameter can be replaced by the B parameter.

The MLP (Mac Logical Channel Priority) is useful in deciding which logical

channels get to use the bandwidth left open by channels with no data to

send, unless we specify another way of sharing the open bandwidth (such as

proportional to the Bi values).

I agree that max B values should be given to logical channels with the

highest priority; to achieve the same goal, there could also be a special B

value, for a non-existent channel, that reserves un-allocated bandwidth to

be shared by logical channels with pending data.

>And you wrote that "(...) If LC-i has data to send but not LC-j, then LC-I may send

>more data than its share of bandwidth (...)". If LogCHi and LogCHj have data to

>send at next TTI, has LogCHi 100% of bandwidth at this time?

This depends on the implementation and on how the TFCIs are configured. It

is possible, but not necessary, for LogCHi to have 100% of the bandwidth.

Best regards,

-Peng

>Note that if you find these questions interesting, you can reply on the reflector.

>

>BR

>Jerome

------------------------------------------------------------
From: Johan Torsner <johan.torsner@lmf.ericsson.se>

Comments: cc: jerome.coutant@PHILIPS.COM

Content-Type: text/plain; charset=us-ascii

X-UIDL: \1E!!6kW!!l9)!!&>'#!

Hi Jerome and others,

Sorry for the late reply, I have tried to answer your questions below:

BR

/Johan T

Jerome Coutant wrote:

> Dear all

>

> I have some comments/questions about Ericsson document (R2-001587).

> I find the examples not clear...

>

> > The logical channels A and B are mapped to a transport channel with 5 TB in a TTI and logical

> > channel C is mapped to a transport channel with 10 TB in a TTI. In one TTI, 5 TB from LCH-A or

> > 5 TB from LCH-B or 10 TB from LCH-C can be transmitted.

>

> What does it mean?

> - there is one TrCH with 2 TFs : 5 x TBsize1 or 10 x TBsize2. In this case how can we know that the

>   TBsize1 will be use for LCH-A and B and TBsize2 for LCH-C ?

> - there are two TrCHs : one with the TF 5 x TBsize1 and one with TF 10 x TBsize2. In this case the

>   sentence "LCH-A and LCH-C have different TB size, which means that data from the two logical

>   channels can not be transmitted in the same TTI." is not correct, 2 different TrCHs can have different

>   TBsize.

>

The first alternative is what we have assumed. However, it seems like a mapping from LCH to TBsize is

currently not in the spec, which would be needed to be able to multiplex several logical channels with

different PDU size on a single transport channel. This mapping may have to be added in the spec.

>

> I can see also that in the 3 examples the priority between 1 and 8 is not used : LCH-A which has the

> highest priority is never transmitted first !!!

>

The intention of the scheme is to assure that a LCH with high priority gets the assigned bandwidth, more

than to specify in which order data is transmitted. This is perhaps more visable in the case where the "max

loss" parameter is set to zero. In this case, the highest priority data gets the whole bandwidth, and lower

priority data can only be transmitted when there is no high priority data available.

------------------------------------------------------------
From: Johan Torsner <johan.torsner@lmf.ericsson.se>

Comments: cc: Peng Li <pli@QUALCOMM.COM>

Content-Type: multipart/mixed; boundary="------------52848B4A46EF534CD6597256"

X-UIDL: eS1!!"8Z"!m%>!!+TY!!

Hi all,

I have prepared a draft version of a CR with the previous comments included.

Note that the previous document was a discussion paper and not a CR.

BR

/Johan T

Peng Li wrote:

> Hello,

>

> I have no objection to Johan's proposed changes.

>

> By the way, I would like to point out that the UTRAN can modify Bi and TFCS

> values to change bandwidth allocation if the previous bandwidth allocation

> cannot be satisfied due to circumstances such as prolonged poor radio

> conditions.

>

> Thank you.

>

> -Peng Li (Qualcomm)

>

> At 10:19 AM 9/27/2000 +0300, Johan Torsner wrote:

> >Hi,

> >

> >I have looked at the Qualcomm CR on logical channel prioritisation. I

> >have a few comments on the document.

> >

> >Comment 1:

> >The CR states that UTRAN must allocate Bi values (proportion of total

> >bandwidth for LCH i) that are consistent with the TFC/TFCS that are

> >used. However, in general that does not seem to be possible. As the UE

> >removes TFCs from the TFCS when the power is unsufficient UTRAN will not

> >even know which TFCs that are "allowed" at a given time. In the current

> >CR it is undefined what happens when the Bi values and the TFCS are

> >unconsistent. But this can be a common case when the UE has reduced the

> >data rate. Further, I think it is desirable to limit the number of

> >allocated TFCs, which would mean that the allocated TFCs will not always

> >match the allocated Bi values even when the UE has sufficient power.

> >

> >In brief I would like to cover the case where the allocated Bi values

> >and TFCS are not consistent. This could be done by deleting the sentence

> >stating " these values [i.e. the Bi values] must be consistent with the

> >corresponding TFS and TFCS configurations, to allow UE to support the

> >requested bandwidth guarantees".

> >

> >Instead a sentence could be added stating:: "When it is not possible to

> >exactly fulfil the bandwidth guarantees for all logical channels the

> >bandwidth shall be allocated as close as possible to the guaranteed

> >bandwidth. This case may occur when the UE has removed one or more TFCs

> >from the TFCS as a result of unsufficient transmitter power"

> >

> >Comment 2:

> >The rule (bullet 4) that defines how the bandwidth shall be allocated

> >over time can also create problems. Depending on the TFCs that are

> >"allowed" at a given time it may not be possible to fulfill the defined

> >rule (or any similar rule). (It may even happen that data from a LCH

> >with low prio can not be transmitted at all, because the TFC supporting

> >this LCH is temporarily removed from the TFCS).

> >

> >Thus I propose to delete the rule defining even allocation of bandwidth

> >and only state:

> >

> >"The guaranteed bandwidth of a logical channel shall be distributed as

> >evenly as possible among all transmitted data over time".

> >

> >I dont think it needs to be specified in detail what even allocation of

> >bandwith means, and if it is defined it should cover all special cases

> >that can occur due to the limited number of TFCs in a TFCS.

> >

> >

> >BR

> >

> >/Johan T, Ericsson

------------------------------------------------------------
From: Vijay Narayan Muthiah <vismvn@CWC.NUS.EDU.SG>

Content-Type: text/plain; charset=us-ascii

X-UIDL: nSA"!Y2#"!Pbn!!`V`"!

Hello Johan and All,

As per our understanding, we do the TFC Selection at each TTI taking into

account-

a) the constraints on the selected TFs of other TrCH ( i.e. TFC selection done

at the previous TTI ).

b) buffer occupancy of the logical channels, and attempting to accommodate

maximum PDUs allowed within the TF in the TFC.

    The logical channel and TBSize selection( in the TF Set) is done as per the

priority of the logical channels mapped to the TrCH in question.For this,as you

    have clarified in your earlier mail, the mapping between LoCh and the

TBSize would be needed from RRC.

We have a few queries/ comments relating to the above:

1. When there is more than one TrCh with the same TTI value to be considered in

the TFC selection algorithm, the order of selecting TFs for each

     TrCh would be important. Could you please clarify whether the parameter

Transport Channel Scheduling Priority is for this purpose.

2.  The TFC would  need a combination with Zero TBs for each of the TrCh. (TFI1

for TrCH1 and TFI2 for TrCH2). For example,

     TFCI       TFI1     TFI2

       0             0            0

       1             0            1

       2             1            0

       3             1            1

       4             0            2

       5             2            0

     Lets assume TFI value 0 is for Zero TB, value 1 for one TB and so on. When

the

     RLC buffer is empty or the available data cannot be fit into any of the TF

in the TFC, still the MAC would need to inform the

     physical layer of the same( i.e a Zero TB TFI ).This is because the

physical layer needs to build and send out the TFCI on a frame by frame basis.

Could you please clarify our understanding on the above. Awaiting your

comments,

thanks,

vijay narayan

STMicroelectronics, Singapore

------------------------------------------------------------
From: Ludovic TANCEREL <ludovic.tancerel@TRIUM-RD.COM>

Hi Johan and All,

I have a few questions about your new CR.

First of all and more generally, the title of the chapter is "Transport

Format Combination Selection in UE" and I don't see anywhere at which

moment and what is the criteria to select the most adequate TFC.

Secondly, I would appreciate if you could precise the concept of

allocated bandwidth, is it an instantaneous or over time filtered value

? What is its unit ? If it is filtered over time, what is the latency of

the filter?

If I correctly understood the meaning of the bandwidth, there is no link

between their values and the different TFC available in the TFC set.

That is why these values can become inconsistent. That raises the

question of the way you choose TFC again.

I will illustrate these questions by a common exemple of AMR+Signalling.

The configuration is as follows :

    - 3 LgCH mapped on 3 different TrCH for the 3 classes of AMR.

    - 4 LgCH mapped on 1 TrCH for signalling

What would you suggest as BWG values and also Priority values.

I would like to know if your proposal guarantees succession of AMR and

Signalling if you can't tranmit both in a single TFC (e.g. when the UE

is in Tx power limit). This wanted succession was the rationale of the

Maxloss concept previously proposed.

Thanks for any clarification of our understandings.

Best regards,

Ludovic

------------------------------------------------------------
From: Peng Li <pli@qualcomm.com>

In-Reply-To:  <4.3.1.2.20000828091644.00abca90@illyana.qualcomm.com>

Content-Type: multipart/mixed; boundary="=====================_16341988==_"

X-UIDL: @3b!!I*&"!EO~"!A-#"!

Dear all,

There have been further discussions on logical channel priorities within my

company, and concerns have been raised regarding the complexity of

implementing the relative priority scheme.  For now, we do not see enough

justification for using the relative priority scheme instead of a simpler

absolute priority scheme. So, Qualcomm plans to support a simpler absolute

priority scheme for Release 99 at next week's RAN2 meeting.

Attached is a proposed specification of an absolute priority scheme, which

is similar to the one proposed by Ericsson in R2-001004 at the 05/2000 meeting.

If there are analytical results showing that a relative priority scheme is

essential for satisfactory system performance and application QoS in

Release 99, we are very interested to see them.

Best Regards,

-Peng and Hector

------------------------------------------------------------
From: Nirav Parikh <nirav@sasi.com>

Subject:      Re: Logical channel priorities in MAC protocol

To: 3GPP_TSG_RAN_WG2@list.etsi.fr

In-Reply-To:  <4.3.1.2.20001004191255.0346d8c8@illyana.qualcomm.com>

Content-Type: TEXT/PLAIN; CHARSET=US-ASCII; FORMAT=flowed

X-UIDL: Lj(#!$E)!!Ti="!L02"!

Hi Peng and all,

I have two comments for the Qualcomm proposal with absolute priorities

(And also one comment about the multiple TB sizes)

Comment about the absolute priority proposol:

1) In case of multiple logical channels for the same priority, the text

that was added in the previous proposals should be added here also.

2) In case of maximum power has reached, UE has to go to a TFC with lower

bit rate.  Here the question is lower by how much?  Shouldn't the

standards specifiy or guide about exact number(let's say some percentage

of current maximum bit rate)  by which the data rate should be reduced?

Because in some scenario, if UE just goes down next lower bit rate allowed

by TFC, the reduction in bit rate might not be sufficient to have any

effect on the power level.

I also share your views about complexity of relative priority scheme.  The

complexity is more when the constraint of TFCS/TFS and TB sizes are also

placed.

Comment about multiple TB sizes :

Also, one more comment about the discussion that had taken place on this

list about mapping of TB size to a logical channel and transport channel

having multiple TB sizes in TFS.  This is required for a transport channel

carrying Transparent mode logical channels, but why is it required for a

transport channel carrying AM/UM logical channels?  If the corresponding

PDU sizes for logical channels are different, they can always be mapped to

different transport channels.

The point favoring this is it can reduce number of transport channels

required by a UE and would reduce resource requirements of UE (particulary

at L1) and also it leads to less RRC signalling over the air interface.

On the other side,  if a relative priority scheme is again introduced in

future, having multiple TB sizes for a transport channel would definately

complicate the "Logical channel priority handling" procedure in

MAC further and above all, the same can be achieved by the existing

specificaitons (by having different transport channels for AM/UM logical

channels having different PDU sizes).

Thanks and regards,

--Nirav

------------------------------------------------------------
From: Peng Li <pli@qualcomm.com>

Comments: To: Nirav Parikh <nirav@sasi.com>

In-Reply-To:  <Pine.WNT.4.21.0010041107010.-110913@pcg122.sasi.com>

Content-Type: multipart/alternative;

              boundary="=====================_90408610==_.ALT"

X-UIDL: fl~"!+"_"!Um1"!cAF"!

Dear Nirav,

My response to your two comments are given below.

BR,

-Peng

>I have two comments for the Qualcomm proposal with absolute priorities

>(And also one comment about the multiple TB sizes)

>

>Comment about the absolute priority proposol:

>1) In case of multiple logical channels for the same priority, the text

>that was added in the previous proposals should be added here also.

I guess you are referring to even bandwidth sharing by logical channels of 

the same priority.  This sharing strategy may not be desirable in all cases.  

I think that how multiple logical channels of the same priority share the bandwidth 

should be left to the implementation in Release 99.

>2) In case of maximum power has reached, UE has to go to a TFC with lower

>bit rate.  Here the question is lower by how much?  Shouldn't the

>standards specifiy or guide about exact number(let's say some percentage

>of current maximum bit rate)  by which the data rate should be reduced?

>Because in some scenario, if UE just goes down next lower bit rate allowed

>by TFC, the reduction in bit rate might not be sufficient to have any

>effect on the power level.

The specification text on this subject was agreed to at a previous RAN2 meeting.

The absolute priority proposal has not changed this.  I agree with your observation,

but I do not have a strong opinion on whether and how another way is better.

------------------------------------------------------------
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